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1. A person occupy self-actualization after

meeting his :

(A) Safety need

(B) Social need

(C) Esteem need

(D) All of the above

2. As per F.W. Taylor, which one works as a

motivator for labor?

(A) Money

(B) WPM

(C) Good work environment

(D) All of the above

3. Which one is Hygiene factor?

(A) Bonus

(B) Salary

(C) Job security

(D) All of the above

4. As per D.McGregor theory X says that

employees are :

(A) Lazy

(B) Not willing to take responsibility

(C) Dislike work

(D) All of the above

5. Verbal communication is of :

(A) Oral

(B) Written

(C) Both (A) and (B)

(D) None of the above

1. ,d O;fDr vkRecks/k dks izkIr djrk gS]

viuh bl t:jr dks iwjh djds %

(A) lqj{kk t:jr

(B) lkekftd t:jr

(C) lEeku t:jr

(D) mijksDr lHkh

2. ,Q-MCY;w- Vsyj ds vuqlkj izksRlkgu gsrq
etnwj dks pkfg, %

(A) /ku

(B) izcU/ku esa Hkkxhnkjh

(C) vPNk dk;Z okrkoj.k

(D) mijksDr lHkh

3. buesa ls dkSu LoPNrk dkjd gS\

(A) cksul

(B) osru

(C) dk;Z lqj{kk

(D) mijksDr lHkh

4. eSdxzsxj ds vuqlkj X deZpkjh %

(A) vkylh gksrs gSa

(B) mÙkjnkf;Ro ugha ysuk pkgrs gSa

(C) dke dks ilUn ugha djrs gSa

(D) mijksDr lHkh

5. ekSf[kd lEizs"k.k gksrk gS %

(A) eq[k ls

(B) fy[k ds

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
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6. Essential prerequisites of controls is :

(A) Information

(B) Authority

(C) Planning and action

(D) All of the above

7. Control process start with :

(A) Setting standard

(B) Measurement

(C) Comparing actual with standard

(D) None of the above

8. Which one is considered as a key of

Control ?

(A) Planning

(B) Delegation of authority

(C) Supervision

(D) All of the above

9. The first step in Planning is to :

(A) Set objective

(B) Choosing the action

(C) Developing numbers of alternatives

(D) All of the above

10. Policies provide :

(A) Rules for organising

(B) Guide to actions

(C) Sequence of activities

(D) All of the above

6. fu;fU=r djus esa egrh Hkwfedk gS %

(A) lwpuk dh

(B) vf/kdkj dh

(C) ;kstuk ,oa  fØ;kUo;u dh

(D) mijksDr lHkh

7. fu;U=.k fØ;kfof/k 'kq: gksrh gS %

(A) ekud ds fu/kkZj.k ls

(B) ekiu ls

(C) ekud o izkfIr ds rqyuk ls

(D) mijksDr esa ls dksbZ ugha

8. buesa ls dkSu fu;U=.k dh dqath gS \

(A) fu;kstu

(B) vf/kdkj lkSaius ls

(C) fujh{k.k

(D) mijksDr lHkh

9. ;kstuk cukus dk igyk pj.k gS %

(A) mís';ksa dk fu/kkZj.k

(B) fØ;k dk pquko

(C) fofHkUu fodYiksa dks cukus ls

(D) mijksDr lHkh

10. uhfr;k¡ iznku djrh gS %

(A) vk;kstu ds fu;e

(B) fØ;kvksa ds fn'kk&funsZ'ku esa

(C) fØ;kvksa ds Øe ls

(D) mijksDr lHkh
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11. R. Likert found that leaders leads in this

style :

(A) Exploitative

(B) Benevolent

(C) Consultative and Participative

(D) All of the above

12. Informal leaders influence followers by

their :

(A) Quality

(B) Ability

(C) Competence

(D) All of the above

13. Formal leader can :

(A) Use authority

(B) Issue order

(C) Control activities of subordinates

(D) All of the above

14. Managerial Grid is used to explain theory

of :

(A) Motivation

(B) Leadership

(C) Control

(D) Organizing

15. Flow of information among people of same

level is called :

(A) Upward Communication

(B) Horizontal Communication

(C) Lateral Communication

(D) Both (B) and (C)

11. vkj- fydVZ us ik;k fd usrk bl rjhds ls

usr̀Ro djrs gSa %

(A) 'kks"kd

(B) mnkj

(C) ijke'kZ  ,oa Hkkxhnkjh

(D) mijksDr lHkh

12. vukSipkfjd usrk vuq;kf;;ksa dks izHkkfor djrs

gSa %

(A) ;ksX;rk }kjk

(B) xq.k }kjk

(C) {kerk }kjk

(D) mijksDr lHkh

13. vkSipkfjd usrk %

(A) vf/kdkj ls dke ysrs gSa

(B) funsZ'k nsrs gSa

(C) v/khuLFk ds ÑR; dk fu;a=.k djrs gSa

(D) mijksDr lHkh

14. ^eSusftfj;y fxzM* fdl F;ksjh dh O;k[;k

djus esa iz;qDr gksrh gS\

(A) vfHkizsj.kk

(B) usr̀Ro

(C) fu;U=.k

(D) vk;kstu

15. lwpuk dk leku Lrj ij lEizs"k.k dgykrk

gS %

(A) Åijh lapj.k

(B) {kSfrt lapj.k

(C) ik'ohZ; lapj.k

(D) nksuksa (B) vkSj (C)
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16. Bureaucratic model of management is

introduced by :

(A) F.W. Taylor

(B) E. Mayo

(C) Max Weber

(D) D. McGregor

17. Which is essential element in Scientific

Management ?

(A) Science not rule of thumb

(B) Harmony not discord

(C) Cooperation not individualism

(D) All of the above

18. Which one is component of Scientific

Management ?

(A) Functional foremanship

(B) Differential piece work

(C) Separation of planning from doing

(D) All of the above

19. Henry Fayol is known for :

(A) Administrative Management Theory

(B) Human Relation Theory

(C) Contingency Model Theory

(D) None of the above

20. Who has contributed in the field of

Leadership ?

(A) Rensis Likert

(B) Mary Parker Follett

(C) Lilian Gilbreth

(D) Peter F. Drucker

16. izcU/ku dk C;wjksØsfVd ekWMy fdlds }kjk

izLrkfor fd;k x;k gS\

(A) ,Q-MCY;w- Vsyj

(B) bZ- es;ks

(C) eSDl oscj

(D) Mh- eSdxszxj

17. oSKkfud izcU/k esa dkSu&ls t:jh rRo

gS \

(A) foKku u fd vaxwBs dk fu;e

(B) ,d:irk u fd fofHkUurk

(C) lg;ksx u fd O;fDrdj.k

(D) mijksDr lHkh

18. oSKkfud izcU/k dk vo;o gS %

(A) fØ;kRed fujh{k.k

(B) vyx&vyx etnwjh

(C) ;kstuk ,oa fØ;k dks vyx&vyx

djuk

(D) mijksDr lHkh

19. gsujh Qs;ksy tkus tkrs gSa %

(A) iz'kklu izcU/k F;ksjh ds fy,

(B) ekuo lEcU/k F;ksjh ds fy,

(C) vkdfLed ekWMy F;ksjh ds fy,

(D) mijksDr esa ls dksbZ ugha

20. fdlus usrR̀o ds {ks= esa ;ksxnku fn;k gS \

(A) jsufll fydVZ

(B) eSjh ikdZj QksysV

(C) fyfy;u fxyczsFk

(D) ihVj ,Q- Mªdj
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21. Paralanguage includes :

(A) Tone of the voice

(B) Volume of the voice

(C) Break in the sentence

(D) All of the above

22. Cultural barier in communication is a :

(A) Language Barrier

(B) Physical Barrier

(C) Organisational Barrier

(D) All of the above

23. Business Ethics is the study of :

(A) Rules and behavior

(B) Rightness of action

(C) Socially permissible norms

(D) All of the above

24. Directing Function is done by :

(A) Motivation

(B) Leadership

(C) Communication

(D) All of the above

25. Group of peoples working together to

achieve stated objectives is called :

(A) Organizing

(B) Departmentation

(C) Co-ordination

(D) Co-operation

21. iSjkHkk"kk esa 'kkfey gS %

(A) vkokt dk ygtk

(B) vkokt dh ek=k

(C) okD; esa #dkoV

(D) mijksDr lHkh

22. lEizs"k.k esa lkaLÑfrd ck/kk gS %

(A) Hkk"kk ck/kk

(B) HkkSfrd ck/kk

(C) laLFkk ck/kk

(D) mijksDr lHkh

23. O;kolkf;d uhfr'kkL= v/;;u gS %

(A) fu;e vkSj O;ogkj dk

(B) fØ;kUo;u ds lgh vf/kdkj dk

(C) lekt }kjk LohÑr vkpkj&fopkj

dk

(D) mijksDr lHkh

24. funsZ'ku dk;Z gksrk gS %

(A) vfHkizsj.kk ls

(B) usr̀Ro ls

(C) lEizs"k.k ls

(D) mijksDr lHkh

25. O;fDr;ksa dk lewg tks ,d&lkFk fdlh fuf'pr

mn~ns'; ds fy, dk;Z djrk gS] dgykrk gS %

(A) vk;kstu

(B) foHkkxhdj.k

(C) leUo;u

(D) lg;ksx
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26. fdl fl)kUr dk iz;ksx izHkkoh fu;kstu esa

gksrk gS \

(A) lhfer dkjd fl)kUr

(B) yphykiu fl)kUr

(C) ykxr&ykHk fo'ys"k.k fl)kUr

(D) mijksDr lHkh

27. fu;kstu esa dkSu lhfer dkjd dh rjg dk;Z

djrk gS \

(A) ykxr

(B) le;

(C) cnyko

(D) mijksDr lHkh

28. /kkj.kk,¡ o ekU;rk,¡ tks ;kstuk ds Hkfo"; dks

crkrh gSa] dgykrh gSa %

(A) ;kstuk ifjlj

(B) ;kstuk fu;e

(C) ;kstuk fl)kUr

(D) mijksDr esa ls dksbZ ugha

29. vk;kstu dh fØ;kfof/k 'kq: gksrh gS %

(A) mís';ksa ds Li"V fu/kkZj.k ls

(B) fØ;kvksa ds fu/kkZj.k ls

(C) drZO;ksa ds fu/kkZj.k ls

(D) dk;kZRed <k¡ps dks cukdj

30. izHkkoh o n{k :i ls lalk/kuksa dk iz;ksx tks

fdlh mís'; ds fy, gksrk gS] dgykrk gS %

(A) izcU/ku

(B) iz'kklu

(C) vk;kstu

(D) mijksDr esa ls dksbZ ugha

26. Which principle is used for effective

planning ?

(A) Principle of Limiting Factor

(B) Principle of Flexibility

(C) Principle of Cost-Benefit Analysis

(D) All of the above

27. Which one acts as a limiting factor in

planning ?

(A) Cost

(B) Time

(C) Change

(D) All of the above

28. Those assumptions and predictions about

future course of event of planning is

called :

(A) Planning premises

(B) Planning rules

(C) Planning principles

(D) None of the above

29. The process of organising starts with :

(A) Clearly defined objectives

(B) Determining activities

(C) Assigning duties

(D) Establishing structure

30. Effective and efficient utilization of resources

to attain stated objective is

called :

(A) Management

(B) Administration

(C) Organisation

(D) None of the above
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31. vf/kdkj gS %

(A) oS/kkfud

(B) 'kfDr

(C) {kerk

(D) mijksDr lHkh

32. izcU/kd dks vf/kdkj izkIr gksrk gS %

(A) Hkwfedk ls

(B) 'kfDr ls

(C) drZO; ls

(D) mijksDr lHkh

33. O;fDrxr 'kfDr izcU/kd dks izkIr gksrh

gS %

(A) oS/kkfudrk ls

(B) dq'kyrk ls

(C) izksRlkgu {kerk ls

(D) uqdlku igq¡pkus dh {kerk ls

34. jktuhfr ,d rjhdk gS fd dSls %

(A) izcU/kd 'kfDr dk mi;ksx djrk gS

(B) izcU/kd dk;Z ysrk gS

(C) izcU/kd 'kfDr izkIr djrk gS

(D) mijksDr lHkh

35. fu;U=.k fu/kkZfjr djrk gS %

(A) ;kstuk ds vuqlkj dk;Z

(B) fopyu dks lq/kkjuk

(C) fujh{k.k o ekiu

(D) mijksDr lHkh

31. Authority is :

(A) Statutory

(B) Power

(C) Ability

(D) All of the above

32. What enables a manager to exercise

authority ?

(A) Roles

(B) Power

(C) Duty

(D) All of the above

33. Which one is source of Personal Power of

a Manager ?

(A) Legitimate

(B) Expert

(C) Reward

(D) Coercive

34. Politics is the way how :

(A) Manager use power

(B) Manager get work done

(C) Manager use to acquire power

(D) All of the above

35. Controlling ensure :

(A) Performance as per plan

(B) Correcting deviations

(C) Monitoring and measuring

(D) All of the above

[P.T.O.]
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36. ;kstuk tks fd izfrLi/khZ ds fojks/k esa cuk;h

tkrh gS] dgykrh gS %

(A) izkstsDV

(B) LVSªVsth

(C) mís';

(D) uhfr;k¡

37. mís'; gS %

(A) vfUre y{;

(B) okafNr Hkfo"; gsrq lrr~ iz;kl

(C) igys ls r; iz;kstu

(D) mijksDr lHkh

38. vkSipkfjd laxBu esa gksrk gS %

(A) dk;ksZa dk foHkktu

(B) fujh{k.k

(C) Li"V <k¡pk

(D) mijksDr lHkh

39. fdlh O;kolkf;d laLFkk esa ykbZu vf/kdkjh

gksrk gS %

(A) tks mRiknu o fcØh esa dk;Zjr gS

(B) tks izcU/ku dks lykg nsrs gSa

(C) ftuds ikl oS/kkfud vf/kdkj o

mÙkjnkf;Ro gSa

(D) mijksDr lHkh

40. fdlh lewg esa dk;ksZa dks ck¡Vdj vkSj ,d

txg dsfUnzr djuk dgykrk gS %

(A) oxhZdj.k

(B) foHkkxhdj.k

(C) dsUnzhdj.k

(D) mijksDr esa ls dksbZ ugha

36. When a plan is made against the competitor

than it is called :

(A) Project

(B) Strategy

(C) Objective

(D) Policy

37. Purpose means :

(A) End objectives

(B) Commitment to desired future

(C) Pre-planned aim

(D) All of the above

38. Formal organisation must show :

(A) Division of Labor

(B) Supervision

(C) Well-defined structure

(D) All of the above

39. In a Business organisation, Line authority

means :

(A) Those who are in production and

sales

(B) Those who provide advice to

management

(C) People who have authority and are

accountable

(D) All of the above

40. Classifying and Grouping activities of an

enterprise into a unit is called :

(A) Categorization

(B) Departmentation

(C) Centralization

(D) None of the above
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41. Written communication have which

advantage?

(A) Legal

(B) Clearly specify

(C) Wider access

(D) All of the above

42. Study of Body Language is known as :

(A) Kinesics

(B) Proxemics

(C) Para

(D) Sign

43. Information overload create barriers in :

(A) Communication

(B) Coordination

(C) Synergy

(D) All of the above

44. Semantics is the study of :

(A) Words and its meaning

(B) Body movement

(C) Linguistic ability

(D) None of the above

45. In communication, psychological barriers

arise due to :

(A) Fear

(B) Emotion

(C) Perception

(D) All of the above

41. fyf[kr lEizs"k.k ds ykHk gSa %

(A) dkuwuh

(B) Li"V :i ls fufnZ"V

(C) nwj rd igq¡p

(D) mijksDr lHkh

42. 'kkjhfjd Hkk"kk dk v/;;u dgykrk gS %

(A) dkbusflDl

(B) izkWDlhfeDl

(C) ijk

(D) lkbZu

43. ^lwpuk cks>* ck/kd curk gS %

(A) lEizs"k.k esa

(B) leUo; esa

(C) rkyesy esa

(D) mijksDr lHkh

44. fleSfUVd v/;;u gS %

(A) 'kCn vkSj mlds vFkZ dk

(B) 'kjhj dh xfr dk

(C) cksyus dh ;ksX;rk dk

(D) mijksDr esa ls dksbZ ugha

45. lEizs"k.k esa euksoSKkfud ck/kk 'kq: gksrh
gS %

(A) Hk; ls

(B) Hkkoukvksa ls

(C) n`f"Vdks.k ls

(D) mijksDr lHkh

[P.T.O.]
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46. Manager's role as a leader is categorized

as :

(A) Interpersonal roles

(B) Informational roles

(C) Decisional roles

(D) None of the above

47. For a Manager, Human Skill  means

understanding :

(A) Needs of others

(B) Wants of others

(C) Desires of others

(D) All of the above

48. Analysis of Business Environmental

Opportunities requires :

(A) Conceptual skill

(B) Management skill

(C) Technical skill

(D) Controlling skill

49. For a Business Organization, MBO

defines :

(A) Goal

(B) Scope

(C) Direction

(D) All of the above

50. Which force affect organizational objective?

(A) Competition

(B) Co-operation

(C) Coalition

(D) All of the above

46. izcU/kd dk usr`Ro djus okyh Hkwfedk gksrh

gS %

(A) ikjLifjd

(B) lwpukRed

(C) fu.kZ;kRed

(D) mijksDr esa ls dksbZ ugha

47. ekuo dkS'ky ds fy, izcU/kd D;k djrk

gS\

(A) nwljs dh t:jr tkuuk

(B) nwljs dh bPNk tkuuk

(C) nwljs dh vfHkyk"kk tkuuk

(D) mijksDr lHkh

48. O;kolkf;d i;kZoj.k ds v/;;u dk volj

tkuus gsrq fdl dkS'ky dh t:jr gksrh gS\

(A) oSpkfjd

(B) izcU/kdh;

(C) rduhdh

(D) fu;U=.k

49. fdlh O;kolkf;d laLFkk esa MBO dk rkRi;Z

gS %

(A) y{;

(B) dk;Z{ks=

(C) funsZ'k

(D) mijksDr lHkh

50. dkSu&lk cy laLFkk ds mn~ns'; izkIr djus gsrq

izHkkoh gS\

(A) izfrLi/kkZ

(B) lg;ksx

(C) lfEeyu

(D) mijksDr lHkh
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51. Western Electric Factory was situated in :

(A) Chicago

(B) Philadelphia

(C) Los Angeles

(D) Washigton D.C.

52. Hawthrone study tells :

(A) Impact of work situation  on

productivity

(B) Mode of payment on productivity

(C) Importance of work freedom on

productivity

(D) All of the above

53. Planning means :

(A) Selling objective

(B) Crafting strategy

(C) Developing methods of effective

use of resources

(D) All of the above

54. Planning ensure :

(A) Direction

(B) Guidance

(C) Minimizing uncertainty

(D) All of the above

55. MBO works for :

(A) Management

(B) Employee

(C) Both (A) and (B)

(D) None of the above

51. osLVuZ bysfDVªd QSDVjh fLFkr gS %

(A) f'kdkxks esa

(B) fQykMsfYQ;k

(C) ykWl ,fUtYl

(D) okf'kaxVu Mh- lh-

52. gkWFkksZu LVMh crkrh gS %

(A) dk;Z okrkoj.k dk mRikndrk ij

izHkko

(B) Hkqxrku ds rjhds dk mRikndrk ij

izHkko

(C) dk;Z LorU=rk dk mRikndrk ij

izHkko

(D) mijksDr lHkh

53. fu;kstu ls vfHkizk; gS %

(A) foØ; mn~ns';

(B) j.kuhfr cukuk

(C) lalk/kuks a ds mfpr bLrseky dh

fof/k dk fodkl djuk

(D) mijksDr lHkh

54. fu;kstu fuf'pr djrk gS %

(A) funsZ'k

(B) ekxZn'kZu

(C) vfuf'prrk dks de djuk

(D) mijksDr lHkh

55. ,e- ch- vks- fdlds fy, dk;Z djrk gS \

(A) izcU/ku

(B) deZpkjh

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
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56. A Leader derive power from :

(A) Legitimate Power

(B) Reward and coercive power

(C) Expert and information power

(D) All of the above

57. Leadership is important because :

(A) It provides support

(B) It builds team spirit

(C) It facilitates change

(D) All of the above

58. On the basis of source of power,

Leadership Style is :

(A) Autocratic

(B) Democratic

(C) Free-rein

(D) All of the above

59. Leadership is defined by :

(A) Trait theories

(B) Behavioural theories

(C) Contingency theories

(D) All of the above

60. R. Likert leadership style is based on :

(A) Trait

(B) Behaviour

(C) Situational

(D) None of the ahove

56. usrk 'kfDr izkIr djrk gS %

(A) oS/kkfud 'kfDr }kjk

(B) Qk;nk o uqdlku 'kfDr }kjk

(C) fo'k"ksK o lwpuk 'kfDr }kjk

(D) mijksDr lHkh

57. usr̀Ro dk egÙo gS D;ksfd ;s enn djrk gS %

(A) lgk;rk igq¡pkus esa

(B) Vhe Hkkouk cukus esa

(C) cnyko ykus esa

(D) mijksDr lHkh

58. 'kfDr ds vkgj.k dsUnz ds vuqlkj usrR̀o

rjhdk gS %

(A) fujadq'k

(B) yksdrkaf=d

(C) fcuk yxke

(D) mijksDr lHkh

59. usr̀Ro dks ifjHkkf"kr djrs gSa %

(A) y{k.k F;ksjh }kjk

(B) O;kogkfjd F;ksjh }kjk

(C) vkdfLedrk F;ksjh }kjk

(D) mijksDr lHkh

60. vkj- fydVZ usr̀Ro rjhdk vk/kkfjr gS %

(A) y{k.k ij

(B) O;ogkj ij

(C) fLFkfrijd ij

(D) mijksDr eas ls dksbZ ugha
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61. Business activities includes :

(A) Procurement of material

(B) Processing

(C) Distribution

(D) All of the above

62. Management word is originated from word

'MANEGE' which is :

(A) Latin word

(B) French word

(C) Greek word

(D) None of the above

63. Which one is used as a resource for

achieving objectives ?

(A) Natural Resources

(B) Physical Resources

(C) Human and Financial Resources

(D) All of the above

64. Which skill is required by a manager to run

a business firm ?

(A) Visionary

(B) Technical

(C) Human

(D) All of the above

65. Ethics is related with :

(A) Moral Conduct

(B) Social Conduct

(C) Economical Conduct

(D) Financial Conduct

61. O;kikfjd fØ;k esa 'kkfey gS %

(A) miknku izkIr djuk

(B) izfØ;k

(C) forj.k

(D) mijksDr lHkh

62. eSustesUV 'kCn dh mRifÙk ^eSuh,t* 'kCn ls

gqbZ gS] ;s gS %

(A) ySfVu 'kCn

(B) ÝsUp 'kCn

(C) xzhd 'kCn

(D) mijksDr esa ls dksbZ ugha

63. dkSu&lk lal/kku mn~ns'; dh izkfIr ds fy,

dke vkrk gS\

(A) izkÑfrd lalk/ku

(B) HkkSfrd lalk/ku

(C) ekuo o foÙkh; lalk/ku

(D) mijksDr lHkh

64. O;kikfjd laLFkku dks pykus ds fy, izcU/kd

esa dkSu&lk dkS'ky gksuk pkfg,\

(A) nwjn'khZ

(B) rduhdh

(C) ekuo

(D) mijksDr lHkh

65. uhfr lEcfU/kr gS %

(A) uhfrxr O;ogkj ls

(B) lkekftd O;ogkj ls

(C) vkfFkZd O;ogkj ls

(D) foÙkh; O;ogkj ls
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66. Grapevine communication flows in :

(A) Vertical direction

(B) Horizontal direction

(C) Diagonal direction

(D) All directions

67. Non-verbal communication can take place

in which forms?

(A) By Facial expression

(B) By Eyes

(C) By Gestures

(D) All of the above

68. Which one causes barriers in

communication?

(A) Technical

(B) Language

(C) Psychological

(D) All of the above

69. Leadership is  :

(A) A process to influence others

(B) An effort to influence others

(C) An ability to influence others

(D) All of the above

70. L= f (LFS) in which L is Leader F is follower

and S means :

(A) Synergy

(B) Situation

(C) System

(D) Strategy

66. vaxwjhyrk lEizs"k.k esa xfr gksrh gS %

(A) yEcor fn'kk esa

(B) {kSfrt fn'kk esa

(C) frjNh fn'kk esa

(D) lHkh fn'kk esa

67. fcuk laokn ds lEizs"k.k gksrk gS %

(A) psgjs dh Hkko Hkafxek ls

(B) vk¡[kksa ls

(C) gko&Hkko ls

(D) mijksDr lHkh

68. dkSu lEizs"k.k esa O;o/kku djrk gS\

(A) rduhdh

(B) Hkk"kk

(C) euksHkko

(D) mijksDr lHkh

69. usr̀Ro gS %

(A) nwljkas dks izHkkfor djus dh fof/k

(B) nwljksa dks izHkkfor djus dk iz;kl

(C) nwljksa dks izHkkfor djus dh {kerk

(D) mijksDr lHkh

70. L=f (LFS) tgk¡ L yhMj F Qkyksoj vkSj S

dk vFkZ gS %

(A) fluthZ

(B) flpq,'ku

(C) flLVe

(D) LVªSVth
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71. The degree to which formal authority is

concentrated in an organization is called :

(A) Management

(B) Centralization

(C) Concentration

(D) All of the above

72. Grouping various activities into a separate

unit is called :

(A) Centralization

(B) Departmentation

(C) Organisation

(D) All of the above

73. An arrangement which entail how work flow

in an organisation is called :

(A) Organisational system

(B) Organizational chart

(C) Both (A) and (B)

(D) Organisational procedure

74. Delegation of Authority means :

(A) Distributing work to other person

(B) Assignment of authority to another

person

(C) Both (A) and (B)

(D) None of the above

75. Which one is the first step in Staffing?

(A) Recruitment

(B) Manpower planning

(C) Placement

(D) Selection

71. ,d laLFkk esa vkSipkfjd vf/kdkj dh lhek

dsafnzr gksrh gS] dgykrh gS %

(A) izcU/ku

(B) dsUnzh;dj.k

(C) ladsUnz.k

(D) mijksDr lHkh

72. fofHkUu fØ;kvksa dks ,d ;wfuV esa bdV~Bk

djuk dgykrk gS %

(A) dsUnzh;dj.k

(B) foHkkxhdj.k

(C) laLFkku

(D) mijksDr lHkh

73. dk;Z izokg dks laLFkk esa fu/kkZfjr djuk dgykrk

gS %

(A) laxBukRed iz.kkyh

(B) laxBukRed pkVZ

(C) nksuksa (A) vkSj (B)

(D) laxBukRed fØ;kfof/k

74. izkf/kdj.k ds izR;k;kstu ls rkRi;Z gS %

(A) nwljs O;fDr dks dk;Z dk cVokjk

(B) nwljs O;fDr dks dk;Z ds fy,

vf/kdkj lkSaiuk

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

75. deZpkjh HkrhZ dk igyk pj.k gS %

(A) HkrhZ

(B) ekuo 'kfDr fu;kstu

(C) LFkkuu

(D) p;u
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76. Self-actualization need is given in which

theory of motivation?

(A) Maslow

(B) Herzberg

(C) McGregor

(D) All of the above

77. Which one is operational function?

(A) Planning

(B) Finance

(C) Staffing

(D) Controlling

78. For motivating employees, which one works

instead of  money?

(A) Goodwill

(B) Work environment

(C) Participation

(D) All of  the above

79. Motivation helps in :

(A) Employees satisfaction

(B) Increase in work efficiency

(C) Reduction in absenteeism

(D) All of the above

80. Two-factor theory of motivation is formulated

by :

(A) F. Herzberg

(B) A. Maslow

(C) Douglas McGregor

(D) George Terry

76. ^vkRecks/k* vfHkizsj.kk ds fdl fl)kar esa

fn;k x;k gS\

(A) eSLyks

(B) gtZcxZ

(C) eSdxzsxj

(D) mijksDr lHkh

77. dkSu&lk ifjpkyu dk;Z gS\

(A) fu;kstu

(B) foRr

(C) LVkfQax

(D) fu;a=.k

78. deZpkfj;ksa dks izksRlkfgr djus esa dkSu #i;s

ds fcuk Hkh dk;Z djrk gS\

(A) lk[k

(B) dk;Z ifjvkoj.k

(C) Hkkxhnkjh

(D) mijksDr lHkh

79. vfHkizsj.kk enn djrh gS %

(A) deZpkjh lUrq"Vhdj.k esa

(B) dk;Z{kerk c<+kus esa

(C) vuqifLFkfr de djus esa

(D) mijksDr lHkh

80. vfHkizsj.kk dh nks dkjd F;ksjh nh Fkh %

(A) ,Q- gtZcxZ us

(B) ,- eSLyks us

(C) Mxyl eSdxzsxj us

(D) tkWtZ Vsjh us
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81. How many functions are there in

Management Process?

(A) Five

(B) Six

(C) Four

(D) None of the above

82. Top-level management in a Business

Organisation consists of :

(A) Member of Board of Directors

(B) Chief Executive Officer

(C) Managing Director

(D) All of the above

83. H. Mintzberg has suggested ____ roles

performed by a Manager.

(A) 10

(B) 8

(C) 9

(D) 12

84. Who is considered as father of Scientific

Management ?

(A) A. Mastow

(B) F. W. Taylor

(C) H. Fayol

(D) H. Mintzberg

85. Hawthrone study is conducted under the

supervision of :

(A) Elton Mayo

(B) B. Jonson

(C) F.W. Taylor

(D) M. Thatcher

81. izcU/ku izfØ;k esa fdrus izdk;Z 'kkfey

gS\

(A) ik¡p

(B) N%

(C) pkj

(D) mijksDr esa ls dksbZ ugha

82. O;kikfjd laLFkku esa lcls mPp izcU/ku esa

'kkfey gSa %

(A) funs'kd eaMy ds lnL;

(B) eq[; dk;Zdkjh vf/kdkjh

(C) izcU/k funs'kd

(D) mijksDr lHkh

83. gs- feUVtcxZ us izca/kd dh fdruh Hkwfedkvksa

ds fuoZgu dk lq>ko fn;k gS\

(A) nl

(B) vkB

(C) ukS

(D) ckjg

84. oSKkfud izcU/ku dk tud fdls ekuk tkrk

gS\

(A) ,- ekLyks

(B) ,Q- MCY;w- Vsyj

(C) gs- Qs;ksy

(D) gs- feUV~tcxZ

85. gkWFkksZu LVMh fdlds funsZ'ku esa gq;h\

(A) ,YVu es;ks

(B) ch- tkWulu

(C) ,Q- MCY;w- Vsyj

(D) ,e- FkSpj

[P.T.O.]



OFF. MANA.&SC. PRA.-A350201T-D/60 (  20  )

86. X and Y theory of motivation is formulated

by :

(A) D. McGregor

(B) W.J. Ouchi

(C) D.M. Farland

(D) W. Petrich

87. Latin word "Communicare" means :

(A) To Share

(B) To Participate

(C) To Transmit

(D) All of the above

88. For Communication, which statement is

right?

(A) Two-way process

(B) Continuous process

(C) Dynamic process

(D) All of the above

89. Which one is considered as basic function

of Management?

(A) Planning

(B) Motivation

(C) Communication

(D) Directing

90. In Communication Process, Encoding

means translating message into :

(A) Words

(B) Symbols

(C) Gestures

(D) All of the above

86. X vkSj Y vfHkizsj.kk F;ksjh nh Fkh %

(A) Mh- eSdxzsxj us

(B) MCY;w ts- mph us

(C) Mh- ,e- QkWjyS.M us

(D) MCY;w- isfVªd us

87. ySfVu 'kCn ßdE;qfuds;jÞ dk rkRi;Z gS %

(A) lk>k djuk

(B) Hkkxhnkjh djuk

(C) lEizsf"kr djuk

(D) mijksDr lHkh

88. lapkj gsrq dkSu lgh gS\

(A) nksrjQk fØ;kfof/k

(B) lrr~ fØ;kfof/k

(C) xfr'khy fØ;kfof/k

(D) mijksDr lHkh

89. buesa ls dkSu izcU/ku dh ewy fØ;kfof/k

gS\

(A) fu;kstu

(B) vfHkizsj.kk

(C) lapkj

(D) lapkyu

90. lapkj fØ;kfof/k esa bUdksfMax ls rkRi;Z

gS lans'k dk vuqokn djuk %

(A) 'kCn eas

(B) ladsr esa

(C) gko&Hkko esa

(D) mijksDr lHkh
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91. The idea of MBO was given by :

(A) P.F. Drucker

(B) D. McFarland

(C) H.O. Koontz

(D) None of the above

92. Strategic planning is made by :

(A) Top level

(B) Middle level

(C) Functional level

(D) All of the above

93. Which among the following is used for single

use planning?

(A) Strategy

(B) Policy

(C) Procedure

(D) None of the above

94. Authority means :

(A) Right to give order

(B) Right to do something

(C) Right to command

(D) All of the above

95. Authority comes from :

(A) Power

(B) Acquired ability

(C) Formal right

(D) All of the above

91. ,e- ch- vks- dk fopkj fn;k Fkk %

(A) ih- ,Q- Mªdj us

(B) Mh- eSdQkjyS.M us

(C) ,p- vks- dqUV~t us

(D) mijksDr esa ls dksbZ ugha

92. j.kuhfrd fu;kstu curk gS %

(A) mPp Lrj }kjk

(B) e/; Lrj }kjk

(C) dk;Zdkjh Lrj }kjk

(D) mijksDr lHkh

93. buesa ls dkSu ,d ckj ds fu;kstu gsrq iz;ksx

gksrk gS\

(A) j.kuhfr

(B) uhfr;k¡

(C) dk;Zfof/k

(D) mijksDr esa ls dksbZ ugha

94. vf/kdkj ls vfHkizk; gS %

(A) vkns'k nsus dk vf/kdkj

(B) dqN djus dk vf/kdkj

(C) nwljksa ij fu;U=.k o lapkyu dk

vf/kdkj

(D) mijksDr lHkh

95. vf/kdkj izkIr gksrk gS %

(A) 'kfDr ls

(B) vftZr ;ksX;rk ls

(C) vkSipkfjd vf/kdkj ls

(D) mijksDr lHkh

[P.T.O.]
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96. Process of searching potential employee

and persuading them to apply for vacancy

is called :

(A) Recruitment

(B) Advertisement

(C) Placement

(D) All of the above

97. Quantitative and qualitative measurement of

Human resources required for a business

organization is called :

(A) Staffing

(B) Manpower planning

(C) Development of employees

(D) None of the above

98. Measuring standard with achieved

performance is called :

(A) Planning

(B) Controlling

(C) Directing

(D) Motivation

99. The basic urge which cause movement

towards satisfaction is called :

(A) Motivation

(B) Orientation

(C) Leadership

(D) None of the above

100. A.H. Maslow's Hierarchy of need model

shows :

(A) 5 levels of need

(B) 4 levels of need

(C) 6 levels of need

(D) 8 levels of need

96. [kkyh in ij HkrhZ gsrq mi;qDr deZpkjh dks

jkth djus rFkk mlds p;u gsrq [kkst izfØ;k

dgykrh gS %

(A) HkrhZ

(B) foKkiu

(C) LFkkuu

(D) mijksDr lHkh

97. ,d O;kolkf;d laLFkk ds fy, vko';d ekuo

lalk/ku dh ek=kRed rFkk xq.kkRed ekiu dks

dgk tkrk gS %

(A) LVkfQax

(B) ekuo 'kfDr fu;kstu

(C) deZpkfj;ksa dk fodkl

(D) mijksDr esa ls dksbZ ugha

98. ekud dks izkIr izn'kZu ds lkFk rqyuk djuk

dgykrk gS %

(A) fu;kstu

(B) fu;a=.k

(C) lapkyu

(D) izksRlkgu

99. larq"Vhdj.k gsrq mBk;k x;k dne tks ewy

t:jr ls 'kq: gksrk gS] dgykrk gS %

(A) izksRlkgu

(B) vfHkfoU;kl

(C) usr̀Ro

(D) mijksDr esa ls dskbZ ugha

100. ,-,l- eSLyks ds ßt:jrksa dk LrjÞ izfr:i

esa fdrus Lrj gSa \

(A) ik¡p

(B) pkj

(C) N%

(D) vkB
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4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA
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ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA
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